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1. wo o wpgsoe vhsem L s,

(1) y=22+8z+11 (2) y=2*+6z+6
(3) y=a®+4z+7 (4) y=2*—4z+7
(5) y=a%+ 6z +10 (6) y=a>—6x+7
() y=2*—-22+3 8) y=22+42+6
(9) y =22 — 102 + 27 (10) y = 2% +8x 420

— 13th-note —
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(1) y=2*>+3z—-1 2 y=2*—z+2
(3) y=a>+3z -2 (4) y=2> -2z +5
(5) y=2*>-3z -5 6) y=2%+3z+2
(7) y=2*—2z -5 8) y=a?+2z

(9) y=2a%—4z -1 (10) y=2*+z -5

— 13th-note —



3.

RO 2 RBEEE VT8 L7 S0,

(1) y = —5z% + 30x — 10

(3) y=—222—-8xr+38

(5) y = 5x% — 40x — 3

(1) y=—22+ 2z — 4

(9) y=—32% - 242+ 9

~ EASERK 0105-2 —

(2) y=—22>—6x+9

(4) y=—2*+4z -9

(6) y=—322+ 18z +9

(8) y =222+ 162+ 9

(10) y = —22% + 162 — 1

— 13th-note —
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1) y=-—5z2+2z+2 2) y=—5x% -8z +10
(1)

(3) y=42% -3z +8 (4) y=—bx? -5z —9
(5) y =32* — 3z —10 (6) y =22 + bx

(7) y=42% — 42+ 6 (8) y=42? —8x +4
(9) y = —32% — 10z (10) y = —22% + 62 — 3

— 13th-note —
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WD 2 WA VT 7ERR L7 S,

(1) y= 22 9

1
(3) y=ga+ g+
() y=—go"+20 -3
(7) y=—5a°+20+1

~ EASERK 0105-2 —

(10) y

— 13th-note —
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1. wo o wpgsoe vhsem L s,

(1) y=2* + 8z +11

y=(x+4)°-5

(3) y=a®+4z+7

y=(x+2)°+3

(5) y = 2%+ 62+ 10

y=(z+3)*+1

() y=a>—-22+3

y=(z—1)*+2

(9) y = 2% — 10x + 27

y=(z—5)*+2

(2) y=2*+62+6

y=(z+3)?-3

(4) y=a2> -4z +7

y=(x—2)°+3

(6) y=a®—6x+7

y=(z—3)"—2

(8) y=a2>+42+6

y=(z+2)*+2

(10) y = 2® 4+ 8z + 20

y=(z+4)*+4

— 13th-note —
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(1) y=2?>+3z—1

2
y=(s+3) -1

(3) y=a>+3z -2

2
_ 3) _17
y=(a+3) - 24

() y=2*>—-22 -5

2

y=(x—-—1)"—6
(9) y=2a%—4z -1
y=(r—2)"-5
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(4) y=22—-22+5

y=(z—1)"+4

6) y=2%+3z+2

2
_ 3y _ 1
y_<w+2) 4

— 13th-note —



3.

(1) y = —5z% + 30x — 10

y=—5(x—3)°+35

(3) y=—22%2—-8x+38

y=—-2(x+2)?*+16

(5) y = 5x% — 40x — 3

2

y=5(x—4)> — 83
(1) y=—22+ 2z — 4
y=—(x—1)°"-3

(9) y=—32% - 242+ 9

y=—3(x+4)°+57
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(2) y=—22>—6x+9

y=—(x+3)°+18

(6) y=—322+ 18z +9

y=—3(x—3)°+36

(8) y =222+ 162+ 9

y=2(x+4)°—23

(10) y = —22% + 162 — 1

y=—2(x—4)°+31

— 13th-note —
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RO 2 RBEEE VT8 L7 S0,

(1) y = —b52% + 22 + 2

2

1 11

— 5(x— = ==
Y (az 5) +

(5) y=3x? — 3z — 10

2
1 43
=3(z—=) — 22

(9) y=—32% - 10z

(2) y=—52% —8x + 10

y:—5<w—|——

(8) y=4a?> - 8x+4

y=4(z—1)°

(10) y = —22% + 62 — 3

— 13th-note —
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5

(1) y= —Zm2—2m
2
) 4
y=-4 <.’B—|—5> +
_ L2y 2 .7
(S)y—gsc —|—3sc—i—3

y=%(flﬁ+1)2+2

__1 9 _3
(5) y = 5T + 2z 5
1 2 1
— — = (x—2 =
] 5 (@ —=2)"+
(7)y:—%$2+2x—|—1
yz—%(w—3)2+4
_ 3.2 3 .1
(9) y= 5T 293-1—2 .
3 1
= — | —_—
Y > < + 2) +
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(2) y= —Z$2+—93
2
4 ! 14 49
5 v= 4( 9) t o7
(4)1/:—932—56—%
1\* 1
v=-(=+3) - %
01t dad
1 2 27
— = 5 20
Y 4(a3+ )" + 1
_ 4.0 7.4
(8)y—3:c —|—3a:+3 .
4 7 5
Y= 3 <w+ 8) 16
(10)y:—%x2—%x+% 2
7 1 7 91
8 Y= <w+ 3) * 18

— 13th-note —



